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Rather that since if they break they have a remedy

Overview

The X answered, the reason N°>107 92 are jam Xnwn (even though they are
similar to 0717 °92), is that since if the n°2131 ¥ break they can be fixed (like 93
mann), therefore they are j2a Riavn like MdNn °53. In some texts it read; 37 1% XK
21 172w, Our Mo deletes the word R7X.

- DN %995 1339 17IYW YINT INDN 153 97N NYT NN 199092 KY
We are not o713 the word '8R', for the X113 did not retract this which was said
previously, ‘the 3337 made the n°2127 °%5 equal to a 91 992’ so they are 7= Yapn —

mdoIn explains why indeed we cannot say that 77°2 777:
- 2anmIv BnY PNAY XA PN NP 0NY W 193VNT DY DIVNT

Since there is no logic in making n°>1>1 *55 becoming X»% on account of the

reason, ‘that if they break they can be repaired’ -
= 991229 191 ©9N Y5957 DIYN NON

Rather the reason the 2°non were IRV M3 on N°2137 793, is because N°3107 "0 are

completely similar to 91 %22 (for " 12 1n>72 nnn similar to 077 °%2) -
=090 D97 17T DIYN ANMIL DAY 119911 9257 11999

So once the 001 established m8% for %107 °%2 since they are similar to o= %> -
$13) NNV 12397 MONNI 1929 1NINY NIPN DNHY YW 193WIT 119 DIVN

We can then say that since ‘if they break they can be repaired’ therefore the
3127 made the n°2107 °%5 like man» °9, regarding that they become ja3% R»w.

Summary
n°o197 °%5 became ¥nv (initially) because they are similar to 0717 ¥92.

Thinking it over
1. mooIn assumes that the reason of 71PN 2% W° 112nW1 %37 11°0 (which makes them
similar to N1onn ¥93) is not a sufficient reason to be XMV 713 on N°2137 %72, but 2°R17

" Initially the X3 explained that n®>127 *23 are 13277 Xnv"s since they are created from sand, they are like o9 *93. If
we are 03 here 'X9X', it would mean that we are retracting from what we said before that n°>1371 °25 are similar to 2>
09, but rather they are nXmw 721 because they are somewhat similar to mann *25 (that they can be repaired).

* The fact the n°>131 *22 have this characteristic similar to n12n» 5 that they can both be repaired, is no reason why
the o°n5n would be 811w 713 for N°3197 ¥23. There must be a better reason. See ‘Thinking it over’.
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917 1 10°°72 nvnn (which makes them similar to 09317 °92) is a sufficient reason to
be 7X%1IM 713 on 1151 °25.> Why is one a better reason than the other?”

2. Are 7IR? ORAW 93P 090101 v90? If not what was the initial 77°1 on n°2137 °93;
how do they become Xn1?

3 See footnote # 2.
* See T M.
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